# Approximate isometries in Hilbert C\*-modules \*

Alireza Kamel Mirmostafaee<sup>1,†</sup>

<sup>1</sup> Department of Pure Mathematics, Ferdowsi University of Mashhad, P. O. Box 1159, Mashhad, Iran

Received September 17, 2008; accepted March 25, 2009

**Abstract.** We use the fixed point alternative theorem to prove that, under suitable conditions, every A-valued approximate isometry on a Hilbert  $C^*$ -module over the  $C^*$ -algebra A can be approximated by a unique A-valued isometry.

AMS subject classifications: Primary 39B52, 39B82, 46B04, 46L08; Secondary 47H10

Key words: isometric theory of Banach spaces, Hilbert  $C^{\ast}\text{-module},$  Hyers-Ulam stability, fixed point alternative

## 1. Introduction

Let X and Y be Banach spaces and  $\varepsilon > 0$ . A mapping  $f: X \to Y$  is called an approximate isometry, or an  $\varepsilon$ -isometry if  $|||f(x) - f(y)|| - ||x - y||| < \varepsilon$  for all  $x, y \in X$ . The question is whether  $\varepsilon > 0$  being small implies the existence of an isometry I which is close to f. If the answer is affirmative, then we say that isometries are stable in the sense of Ulam. The first positive answer toward the solution of the problem was given by Hyers and Ulam [12] who proved that each  $\varepsilon$ -isometry from a Hilbert space onto itself can be uniformly approximated by an isometry within a distance of  $k\varepsilon$ , for some k > 0. In [13], they also solved the problem for mappings on the space of continuous functions over a compact metric space. In 1983, Gevirtz [10] showed that every surjective  $\varepsilon$ -isometry  $f: X \to Y$  with f(0) = 0, where X and Y are real Banach spaces, can be uniformly approximated by a linear isometry U such that  $||f(x) - U(x)|| \leq 5\varepsilon$  for each  $x \in X$ . Omladič and Šemrl [18] showed that  $2\varepsilon$  is a sharp constant in the latter inequality.

The problem of isometries and its variants have been considered by many authors from different points of view (see e. g. [1, 6, 7], [9]-[14], [19, 22] and the references therein).

Hilbert  $C^*$ -modules are objects like Hilbert spaces except that the inner product takes its values in a  $C^*$ -algebra. Let E and F be Hilbert  $C^*$ -modules over a  $C^*$ -algebra A. A mapping  $U : E \to F$  is called an isometry (or an A-valued isometry) if

$$|U(x) - U(y)| = |x - y|$$

holds, where  $|\cdot|$  denotes the A-valued norm.

http://www.mathos.hr/mc

©2009 Department of Mathematics, University of Osijek

<sup>\*</sup>This research is financially supported by Ferdowsi University of Mashhad

<sup>&</sup>lt;sup>†</sup>Corresponding author. *Email address:* mirmostafaei@ferdowsi.um.ac.ir (A.K.Mirmostafaee)

A. K. MIRMOSTAFAEE

In this paper we consider the Hyers-Ulam stability for the above functional equation. In fact, we use the fixed point alternative theorem to show that if E and Fare Hilbert  $C^*$ -modules over a  $C^*$ -algebra A and  $f: E \to F$  satisfies the inequality

$$||f(x) - f(y)| - |x - y||| \le \varphi(x, y) \quad (x, y \in E)$$
(1)

then under suitable conditions on  $\varphi : E \times E \to [0, \infty)$ , there is a unique isometric mapping  $U : E \to F$ , which suitably approximates f.

# 2. Preliminaries

In 1953, Kaplansky [15] initiated the notion of a Hilbert  $C^*$ -module as a generalization of a Hilbert space in which the inner product takes its values in a  $C^*$ -algebra. It turned out that the notion of Hilbert  $C^*$ -module has many applications [16].

**Definition 1.** Let A be a  $C^*$ -algebra. An inner product A-module is a linear space E which is a right A-module with compatible scalar multiplication:

$$\lambda(xa) = (\lambda x)a = x(\lambda a) \quad (\lambda \in \mathbb{C}, x \in E, a \in A),$$

together with a map

$$(x,y) \mapsto \langle x,y \rangle : E \times E \to A$$

such that for each  $x, y, z \in E$ ,  $\alpha, \beta \in \mathbb{C}$  and  $a \in A$ ,

- (i)  $\langle x, \alpha y + \beta z \rangle = \alpha \langle x, y \rangle + \beta \langle x, z \rangle$ ,
- (*ii*)  $\langle x, ya \rangle = \langle x, y \rangle a$ ,

(iii) 
$$\langle x, y \rangle^* = \langle y, x \rangle$$
,

(iv)  $\langle x, x \rangle \geq 0$  and the equality holds if and only if x = 0.

It is easy to observe that  $||x|| = ||\langle x, x \rangle||^{\frac{1}{2}}$  defines a norm on E. An inner product A-module which is complete with respect to the norm ||x|| is called a *Hilbert A-module* or a *Hilbert C<sup>\*</sup>-module over the C<sup>\*</sup>-algebra A*. The notion of a left Hilbert *A*-module can be defined similarly. By (iv),  $\langle x, x \rangle$  is a positive element of the C<sup>\*</sup>-algebra A, hence the *A*-valued norm  $|x| = \langle x, x \rangle^{\frac{1}{2}}$  exists. The *A*-valued norm  $| \cdot |$  is a useful device but it needs to be handled with care. For example, it need not be the case that  $|x + y| \leq |x| + |y|$  for each  $x, y \in E$ .

**Example 1.** Every  $C^*$ -algebra A is a Hilbert A-module under the A-valued inner product

$$\langle a, b \rangle = a^* b \qquad (a, b \in A).$$

**Example 2.** Every complex Hilbert space is a left Hilbert  $\mathbb{C}$ -module.

We refer the reader to [16] for basic properties of Hilbert  $C^*$ -modules.

**Definition 2.** The pair (X, d) is called a generalized complete metric space if X is a nonempty set and  $d: X^2 \to [0, \infty]$  satisfies the following conditions:

- (a)  $d(x,y) \ge 0$  and the equality holds if and only if x = y,
- $(b) \ d(x,y) = d(y,x),$
- (c)  $d(x,z) \le d(x,y) + d(y,z)$ ,
- (d) every d-Cauchy sequence in X is d-convergent.

Note that the distance between two points in a generalized metric space is permitted to be infinity.

**Definition 3.** Let (X, d) be a generalized complete metric space. A mapping  $\Lambda$  :  $X \to X$  satisfies a Lipschitz condition with Lipschitz constant  $L \ge 0$  if

$$d(\Lambda(x), \Lambda(y)) \le Ld(x, y) \quad (x, y \in X).$$

If L < 1, then  $\Lambda$  is called a strictly contractive operator.

In 2003, Radu [20] employed the following result, due to Diaz and Margolis [8], to prove the stability of a Cauchy functional equation. Using such an elegant idea, several authors applied the method to investigate the stability of some functional equations, see [2]-[5], [14, 17, 20, 21].

**Proposition 1** (The fixed point alternative principle). Suppose that a complete generalized metric space  $(\mathcal{E}, d)$  and a strictly contractive mapping  $J : \mathcal{E} \to \mathcal{E}$  with the Lipschitz constant 0 < L < 1 are given. Then, for a given element  $x \in \mathcal{E}$ , exactly one of the following assertions is true:

either

(a)  $d(J^n x, J^{n+1} x) = \infty$  for all  $n \ge 0$  or

(b) there exists some integer k such that  $d(J^n x, J^{n+1}x) < \infty$  for all  $n \ge k$ .

Actually, if (b) holds, then the sequence  $\{J^nx\}$  is convergent to a fixed point  $x^*$  of J and

(b1)  $x^*$  is the unique fixed point of J in  $\mathcal{F} := \{y \in \mathcal{E}, d(J^k x, y) < \infty\};$ (b2)  $d(y, x^*) \leq \frac{d(y, Jy)}{1-L}$  for all  $y \in \mathcal{F}.$ 

**Remark 1.** The fixed point  $x^*$ , if it exists, is not necessarily unique in the whole space  $\mathcal{E}$ ; it may depend on x. Actually, if (b) holds, then  $(\mathcal{F}, d)$  is a complete metric space and  $J(\mathcal{F}) \subset \mathcal{F}$ . Therefore properties (b1) and (b2) follow from "The Banach Fixed Point Theorem".

# 3. Main results

Throughout the rest of the paper, we assume that E and F are Hilbert  $C^*$ -modules over a  $C^*$ -algebra A. A function  $f: E \to F$  is said to be  $\varphi$ -approximately isometric if (1) holds.

**Lemma 1.** Let  $\phi: E \times E \to [0,\infty)$  and  $f: E \to F$  be such that

$$|| |f(x) - f(y)|^2 - |x - y|^2 || \le \phi(x, y) \quad (x, y \in E).$$
(2)

A. K. MIRMOSTAFAEE

Suppose that

$$\lim_{n \to \infty} 2^{2n} \phi(2^{-n}x, 2^{-n}y) = 0 \quad (x, y \in E),$$

and for each  $x \in E$ ,

$$2\psi(2^{-1}x) \le L\psi(x) \tag{3}$$

1

where 0 < L < 1 and

$$\psi(x) = \left(\phi(2x,0) + 2 \ \phi(x,2x) + 2 \ \phi(x,0)\right)^{\frac{1}{2}} \quad (x \in E).$$
(4)

Then there exists a unique isometry  $U: E \to E$  such that

$$||f(x) - f(0) - U(x)|| \le \frac{L\psi(x)}{2(1-L)} \quad (x \in E)$$
(5)

and

$$U(2^{-n}x) = 2^{-n}U(x) \quad (x \in E, n \in \mathbb{N}).$$
 (6)

**Proof.** By replacing f by  $f_1 = f - f(0)$ , we can assume that f(0) = 0. By substituting y by 0 and 2x in (2), we see that

$$|| |f(x)|^2 - |x|^2 || \le \phi(x, 0) \tag{7}$$

and

$$|| |f(2x) - f(x)|^2 - |x|^2 || \le \phi(x, 2x)$$
(8)

for each  $x \in E$ . By replacing x by 2x and y by 0 in (2), we see that

$$|| |f(2x)|^2 - 4|x|^2 || \le \phi(2x, 0) \quad (x \in E).$$
(9)

Since

$$\begin{aligned} |f(x) - f(2x)|^2 &= \langle f(x) - f(2x), f(x) - f(2x) \rangle \\ &= |f(2x)|^2 + |f(x)|^2 - \left( \langle f(x), f(2x) \rangle + \langle f(2x), f(x) \rangle \right) \quad (x \in E), \end{aligned}$$

we have

$$\begin{split} |2f(x) - f(2x)|^2 &= \langle 2f(x) - f(2x), 2f(x) - f(2x) \rangle \\ &= 4|f(x)|^2 + |f(2x)|^2 - 2(\langle f(x), f(2x) \rangle + \langle f(2x), f(x) \rangle) \\ &= 2|f(2x) - f(x)|^2 + 2|f(x)|^2 - |f(2x)|^2 \\ &= 2(|f(2x) - f(x)|^2 - |x|^2) \\ &+ 2(|f(x)|^2 - |x|^2) - (|f(2x)|^2 - 4|x|^2) \quad (x \in E). \end{split}$$

Therefore by (7), (8) and (9), we have

$$\begin{split} ||2f(x) - f(2x)||^2 &= || |2f(x) - f(2x)|^2 || \\ &\leq 2|| |f(2x) - f(x)|^2 - |x|^2 || + 2|| |f(x)|^2 - |x|^2 || \\ &+ || |f(2x)|^2 - 4|x|^2 || \\ &\leq 2 \ \phi(x, 2x) + 2 \ \phi(x, 0) + \phi(2x, 0) \quad (x \in E). \end{split}$$

Hence

$$||2f(x) - f(2x)|| \le \psi(x) \quad (x \in E).$$
(10)

Define

$$\mathcal{E} = \{g : E \to F : g(0) = 0\}$$

and

$$d(g,h) = \inf\{\alpha \ge 0 : ||g(x) - h(x)|| \le \alpha \psi(x), \forall x \in E\} \quad (g,h \in \mathcal{E}).$$

Then  $(\mathcal{E}, d)$  is a complete generalized metric space (see [20] for details). Let  $J : \mathcal{E} \to \mathcal{E}$  be defined by  $J(g)(x) = 2g(2^{-1}x)$  for each  $x \in E$ . We have

$$||g(x) - h(x)|| \le d(g, h)\psi(x) \quad (x \in E)$$

Therefore for each  $x \in E$ ,

$$||J(g)(x) - J(h)(x)|| = ||2g(2^{-1}x) - 2h(2^{-1}x)|| \le 2d(g,h)\psi(2^{-1}x) \le Ld(g,h)\psi(x).$$

Hence

$$d(J(g), J(h)) \le Ld(g, h) \quad (g, h \in \mathcal{E})$$

Therefore  $J: \mathcal{E} \to \mathcal{E}$  is a strictly contractive mapping with the Lipschitz constant 0 < L < 1. By (3) and (10),  $||J(f)(x) - f(x)|| \leq \frac{L}{2}\psi(x)$  for each  $x \in E$ . This means that  $d(J(f), f) \leq \frac{L}{2}$ . Therefore, by Proposition 1, J has a unique fixed point  $U: E \to F$  in the set  $\mathfrak{F} = \{g \in \mathcal{E} : d(J(f), g) < \infty\}$  which is defined by  $U(x) = \lim_{n \to \infty} 2^n f(2^{-n}x)$  for each  $x \in E$  and

$$d(U, f) \le \frac{d(f, J(f))}{1 - L} \le \frac{L}{2(1 - L)}$$

.

Hence, by the definition of d, (5) holds. We have

$$U(2^{-n}x) = \lim_{m \to \infty} 2^m f(2^{-(n+m)}x) = \lim_{k \to \infty} 2^{-n} 2^k f(2^{-k}x)$$
$$= 2^{-n} U(x) \quad (x \in E, n \in \mathbb{N}).$$

This proves (6). Since

$$\begin{aligned} || \ |U(x) - U(y)|^2 - |x - y|^2 \ || &= \lim_{n \to \infty} || \ |2^n f(2^{-n}x) - 2^n f(2^{-n}y)|^2 - |x - y|^2 \ || \\ &\leq \lim_{n \to \infty} 2^{2n} \phi(2^{-n}x, 2^{-n}y) = 0 \quad (x, y \in E), \end{aligned}$$

we have

$$|U(x) - U(y)| = |x - y| \quad (x, y \in E).$$

Let  $U': E \to F$  be an isometry such that

$$||f(x) - f(0) - U'(x)|| \le \frac{L\psi(x)}{2(1-L)} \quad (x \in E),$$

and

$$U'(2^{-n}x) = 2^{-n}U'(x) \quad (x \in E, n \in \mathbb{N}).$$

Then by the triangle inequality

$$||U(x) - U'(x)|| \le \frac{L\psi(x)}{1 - L} \quad (x \in E).$$

Therefore for each  $x \in E$  and  $n \in \mathbb{N}$ , we have

$$||U(x) - U'(x)|| = 2^{n} ||U(2^{-n}x) - U'(2^{-n}x)||$$
  
$$\leq \frac{L2^{n}\psi(2^{-n}x)}{1 - L}$$
  
$$\leq \frac{L^{n+1}\psi(x)}{1 - L} \quad (n \in \mathbb{N}).$$

Since L < 1, the last term of the above inequality tends to zero as n tends to infinity. This proves the uniqueness in the assertion of Lemma 1.

**Theorem 1.** Let  $f : E \to F$  be a  $\varphi$ -approximately isometric function for some function  $\varphi : E \times E \to [0, \infty)$  such that

$$\lim_{n \to \infty} 2^n \varphi(2^{-n} x, 2^{-n} y) = 0 \quad (x, y \in E).$$
(11)

Define

$$\phi(x,y) = \varphi(x,y) \Big( \varphi(x,y) + 2||x-y|| \Big) \quad (x,y \in E).$$
(12)

Let  $\psi$  be defined by (4) and assume that (3) holds for some 0 < L < 1. Then there exists a unique isometry  $U: E \to F$  such that (5) and (6) hold.

**Proof.** For every  $x, y \in E$ , we have

$$|f(x) - f(y)|^{2} - |x - y|^{2} = |f(x) - f(y)| (|f(x) - f(y)| - |x - y|) + (|f(x) - f(y)| - |x - y|)|x - y|.$$

Since by (1)

$$||f(x) - f(y)|| \le \varphi(x, y) + ||x - y|| \quad (x, y \in E),$$

we have

$$|| |f(x) - f(y)|^2 - |x - y|^2 || \le \varphi(x, y) \Big( \varphi(x, y) + 2||x - y|| \Big) \quad (x, y \in E).$$

Since

$$2^{2n}\phi(2^{-n}x,2^{-n}y) = 2^n\varphi(2^{-n}x,2^{-n}y)\Big(2^n\varphi(2^{-n}x,2^{-n}y) + 2||x-y||\Big)$$
$$(x,y\in E; n\in\mathbb{N})$$

by (11),  $\lim_{n\to\infty} 2^{2n}\phi(2^{-n}x,2^{-n}y) = 0$  for each  $x, y \in E$ . Hence, by Lemma 1, there exists a unique isometry  $U: E \to F$  such that (5) and (6) hold.  $\Box$ 

**Corollary 1.** Let  $f: E \to F$  be a function such that for some p > 1,

$$||f(x) - f(y)| - |x - y||| \le ||x - y||^p \quad (x, y \in E).$$

Then there exists a unique isometry  $U: E \to F$  such that (6) and the approximation

$$||f(x) - f(0) - U(x)|| \le \frac{\left((2^{2p} + 4)||x||^{2p} + (2^{p+2} + 8)||x||^{p+1}\right)^{\frac{1}{2}}}{2^{\frac{p+1}{2}} - 2} \quad (x \in E) \quad (13)$$

hold.

**Proof**. Let

$$\varphi(x,y) = ||x-y||^p \quad (x,y \in E)$$

Then

$$\lim_{n \to \infty} 2^n \varphi(2^{-n}x, 2^{-n}y) = \lim_{n \to \infty} 2^{n(1-p)} ||x-y||^p = 0 \quad (x, y \in E)$$

and the functions  $\phi$  and  $\psi$  which are defined by (12) and (4) are

$$\phi(x,y) = ||x-y||^{2p} + 2||x-y||^{p+1} \quad (x,y \in E)$$

and

$$\psi(x) = \left( (2^{2p} + 4) ||x||^{2p} + (2^{p+2} + 8) ||x||^{p+1} \right)^{\frac{1}{2}} \quad (x \in E),$$

respectively. We have

$$2\psi(2^{-1}x) = 2\left(2^{-2p}(2^{2p}+4)||x||^{2p}+2^{-(p+1)}(2^{p+2}+8)||x||^{p+1}\right)^{\frac{1}{2}}$$
  
$$\leq 2\max\{2^{-p}, 2^{\frac{-(p+1)}{2}}\}\psi(x)$$
  
$$= 2^{\frac{-(p+1)}{2}}\psi(x) \quad (x \in E).$$

Hence for  $L = 2^{\frac{-(p+1)}{2}} < 1$ , (3) holds. By Theorem 1, there is a unique isometry  $U: E \to F$  such that (6) and (13) hold.

The proof of the following result is similar to the proof of Lemma 1, hence it is omitted.

**Lemma 2.** Let  $\phi: E \times E \to [0,\infty)$  be a mapping and  $f: E \to F$  satisfy (2). If

$$\lim_{n \to \infty} 2^{-2n} \phi(2^n x, 2^n y) = 0 \quad (x, y \in E)$$

and for each  $x \in E$ ,

$$\frac{1}{2}\psi(2x) \le L\psi(x),\tag{14}$$

where 0 < L < 1 and  $\psi$  is defined by (4). Then there exists a unique isometry  $U: E \to F$  such that

$$||f(x) - f(0) - U(x)|| \le \frac{\psi(x)}{2(1-L)} \quad (x \in E)$$
(15)

and

$$U(2^n x) = 2^n U(x) \quad (x \in E).$$
 (16)

By applying Lemma 2 and imitating the proof of Theorem 1, one can easily prove the following result.

**Theorem 2.** Let  $\varphi : E \times E \to [0,\infty)$  be a function such that

$$\lim_{n \to \infty} 2^{-n} \varphi(2^n x, 2^n y) = 0 \quad (x, y \in E).$$

Let  $f: E \to F$  be a  $\varphi$ -approximately isometric mapping, let  $\phi$  and  $\psi$  be defined by (12) and (4), respectively. Suppose that for each  $x \in E$ , inequality (14) holds. Then there exists a unique isometry  $U: E \to F$  such that (15) and (16) hold.

In particular, we have:

**Corollary 2.** Let  $\varepsilon > 0$  and  $f : E \to F$  satisfy the inequality

$$|| |f(x) - f(y)| - |x - y| || \le \varepsilon \quad (x, y \in E).$$

Then there exists a unique isometry  $U: E \to F$  such that (16) and

$$||f(x) - f(0) - U(x)|| \le \frac{\left(\varepsilon(5\varepsilon + 12||x||)\right)^{\frac{1}{2}}}{2 - \sqrt{2}} \quad (x \in E)$$
(17)

hold.

**Proof**. Let

$$\varphi(x,y) = \varepsilon \quad (x,y \in E).$$

Then

$$\lim_{n \to \infty} 2^{-n} \varphi(2^n x, 2^n y) = \lim_{n \to \infty} 2^{-n} \varepsilon = 0 \quad (x, y \in E).$$

Let  $\phi$  be defined by (12), then

$$\phi(x,y) = \varepsilon \Big( \varepsilon + 2||x-y|| \Big) \quad (x,y \in E).$$

It is not hard to see that the function  $\psi$  defined by (4), is

$$\psi(x) = \left(\varepsilon(5\varepsilon + 12||x||)\right)^{\frac{1}{2}} \quad (x \in E).$$

Since

$$2^{-1}\psi(2x) = 2^{-1} \Big( \varepsilon(5\varepsilon + 24||x|) \Big)^{\frac{1}{2}} \le 2^{-1} \sqrt{2} \psi(x) \quad (x \in E),$$

for  $L = \frac{1}{\sqrt{2}} < 1$ , all conditions of Theorem 2 are fulfilled. Therefore there exists a unique isometry  $U: E \to F$  such that (16) and (17) hold.

Hyers and Ulam [12] gave an example of an  $\varepsilon$ -isometry  $f : \mathbb{R} \to \mathbb{R}^2$  such that  $\{||f(x) - U(x)|| : x \in \mathbb{R}\}$  is an unbounded set for every isometry  $U : \mathbb{R} \to \mathbb{R}^2$ . Here we give such an example in the setting of complex Hilbert spaces.

**Example 3.** Let  $E = \mathbb{C}$ ,  $F = \mathbb{C}^2$  and  $\varepsilon > 0$ . Then E and F are  $\mathbb{C}$ -modules. Define  $f: E \to F$  by  $f(z) = (z, \varepsilon + \sqrt{2 \varepsilon |z|})$ . Then for each  $z, w \in E$ , we have

$$|z - w| \le \left\{ |z - w|^2 + \left(\sqrt{2 \varepsilon |z|} - \sqrt{2 \varepsilon |w|}\right)^2 \right\}^{\frac{1}{2}} = |f(z) - f(w)|.$$
(18)

Without loss of generality, we may assume that  $|z| \ge |w|$ . Then  $\sqrt{|z||w|} \ge |w|$ , so that

$$|\sqrt{|z|} - \sqrt{|w|}|^2 = |z| + |w| - 2\sqrt{|z||w|} \le |z| + |w| - 2|w| = |z| - |w| \le |z - w|.$$

Hence by (18), we have

$$\begin{aligned} |z - w| &\leq |f(z) - f(w)| \leq \left\{ |z - w|^2 + 2 \varepsilon |z - w| \right\}^{\frac{1}{2}} \\ &< \left\{ |z - w|^2 + 2 \varepsilon |z - w| + \varepsilon^2 \right\}^{\frac{1}{2}} \\ &= |z - w| + \varepsilon. \end{aligned}$$

This shows that f is an  $\varepsilon$ -isometry. By Corollary 2,  $U(z) = \lim_{n \to \infty} 2^{-n} f(2^n z) = (z, 0)$  is the unique suitable isometry corresponding to f. However,

$$d(f,U) = \sup\{|f(z) - U(z)| : z \in E\} = \sup\{\varepsilon + \sqrt{2\varepsilon|z|} : z \in E\} = \infty.$$

### Acknowledgements

The author would like to thank the referees for their helpful remarks and corrections. Thanks are also due to Professor M. S. Moslehian for his encouragement while the work was in progress.

## References

- D. G. BOURGIN, Approximately isometrics and multiplicative transformations on continuous function rings, Duke Math. J. 16(1949), 385-397.
- [2] L. CĂDARIU, Fixed points in generalized metric space and the stability of a quartic functional equation, Bul. Ştiinţ. Univ. Politeh. Timiş. Ser. Mat. Fiz. 50(2005), 25-34.
- [3] L. CĂDARIU, V. RADU, Fixed points and the stability of Jensen's functional equation, J. Inequal. Pure Appl. Math. 4(2003), article 4.
- [4] L. CĂDARIU, V. RADU, Fixed points and the stability of quadratic functional equations, An. Univ. Timisoara Ser. Mat.-Inform. 41(2003), 25-48.
- [5] L. CĂDARIU, V. RADU, On the stability of Cauchy functional equation: a fixed points approch, in: Iteration theory (ECIT '02), (J. Sousa Ramos, D. Gronau, G. Mira, L. Reich, A. Sharkovskii, Eds.), Grazer Mathematische Bereich, 2004, 43-52.
- [6] J. CHMIELIŃSKI, On the stability of isometric operators for Hilbert spaces, in: Inner product spaces and applications, (Th. M. Rassias, Ed.), Longman, 1997, 15-21.
- [7] J. CHMIELIŃSKI, M. S. MOSLEHIAN, Approximately C\*-inner product preserving mappings, Bull. Korean Math. Soc. 45(2008), 157-167.
- [8] J. B. DIAZ, B. MARGOLIS, A fixed point theorem of the alternative for the contractions on generalized complete metric space, Bull. Amer. Math. Soc. 74(1968), 305-309.
- [9] G. DOLINAR, Generalized stability of isometries, J. Math. Anal. Appl. 242(2000), 39-56.

#### A. K. MIRMOSTAFAEE

- [10] J. GEVIRTZ, Stability of isometries on Banach spaces, Proc. Amer. Math. Soc. 89(1983), 633-636.
- [11] P. M. GRUBER, Stability of isometries, Trans.Amer. Math. Soc. 245(1978), 263-277.
- [12] D. H. HYERS, S. M. ULAM, On approximate isometries, Bull. Amer. Math. Soc. 51(1945), 288-292.
- [13] D. H. HYERS, S. M. ULAM, Approximate isometries of the space of continuous functions, Annals of Math. 48(1947), 285-289.
- [14] S.-M. JUNG, A fixed point approach to the stability of isometries, J. Math. Anal. Appl. 329(2007), 879-890.
- [15] I. KAPLANSKY, Modules Over Operator Algebras, Amer. J. Math. 75(1953), 839-858.
- [16] E. C. LANCE, Hilbert C<sup>\*</sup>-Modules: A Toolkit for Operator Algebraists, Cambridge University Press, Cambridge, 1995.
- [17] M. MIRZAVAZIRI, M. S. MOSLEHIAN, A fixed point approach to stability of a quadratic equation, Bull. Braz. Math. Soc. 37(2006), 361-376.
- [18] M. OMLADIČ, P. ŠEMRL, On nonlinear pertubation of isometries, Math. Ann. 303(1995), 617-628.
- [19] C. PARK, TH. M. RASSIAS, Additive isometries on Banach spaces, Nonlinear Funct. Anal. Appl. 11(2006), 793-803.
- [20] V. RADU, The fixed point alternative and stability of functional equations, Fixed Point Theory 4(2003), 91-96.
- [21] J. M. RASSIAS, Alternative contraction principle and Ulam stability problem, Math. Sci. Res. J. 7(2005), 190-199.
- [22] TH. M. RASSIAS, Isometries and approximate isometries, Internat. J. Math. Math. Sci. 252001), 73-91.
- [23] P. ŠEMRL, Hyers-Ulam stability of isometries on Banach spaces, Aequationes Math. 58(1999), 157-162.